
465APPENDIX - *F* 
THEORY TFSa

Time s 45 Minutes

TO TUB STUDENT
********** **«•»* 4-# **#*##** ]>«*«« «*»**••« ***&*%*««*••«»»

This theory test contains 40 quo. tlons* Each Qu- -tion 
has four suggested a us vers* Select the one which is host m 
each ease and then aurk your response on t^e special answer 
sheet w. toh you will be provided. If you wish to change 
an answer/ do change after crossing the first one* he 
net write on the oyclostyled bo OK.

Sample Question 
24* One plus two equals

(a) One
(b) Two 
4c) Three 
(d) fear

«###*««****###*te• e##«■<* r**1 #«# *#»-*?•-?•«■S»H***** Jr»**#*r»**«-
X '*i* The MM3! molecule has m. Cl.s as its dot structure 

fnd it oontains. Tick the corj.sot alternative*
(A) 3 pair of non-bonding electrons.
(B; 2 pair of bonding electrons*
(C) % pair of non-bonding electrons*
(D) 4 pair of bonding aiectrons.

2* A filled or half filled set of p or d orbitals is
spherically symmetric• Tick out aaong che alternatives 
given below which sjjeoies hagspherioai syamerty*
(A) Fe (B) Cl (0) m (D) C.

3* MaNO^ is an example of a/aty Tick the oorrsot alternative* 
(A) Molecular crystal (a) Met work orystal*
(C) Ionic orystal (D) Metallic crystal*

24*
Sample Answer
(a; cbj tej <4/
ooma



%• la the solid «i4e orystwls are held together byv*nder~valls fore ok . One would expect s fiok the ^6 
eorreot alternative*

on(A.) Nad and J»^ to melt at opproximately at the safe 
temperature*

(B> Nad to aelt at a higher tetape • ature than Pu>7
(C) P^ to he more soluble in miter than i&Qlm

(P) to emit at a higher temperature than 5*01*

5* tfour substances we*e thought to he elither a colloid* a 
precipitate or a t-olutioa sabs A and C were refined 
by filterution, hbvever. substance 9 passed through the 
filter hut was retained by dialysis tubing* Substance 
P was retained by neither filteration nor dialysis tubing* 
Substance D is most likely to be* Tick the eorreot alter* 
native*
(a) Precipitate (9) Colloid (0) Solution
(D) All of these*

6* Given the relation h * Mv-—~>W 4- P* The rate of 
this reaction could be increased by* Tic* the oorreet 
ateroutire*
(A) increasing the concentration of M*
(B) Adding a catalyst.
(C) Increasing concentration of L*
(p) All of these*

7* The equilibrium constant for the reaction shown below 
is a very large nuaber*

C ♦ P;---->1

If a reaction mixture of C and l> are allowed to 
reaoh equilibrium* which b^.temeufc concerning this 
equilibrium would be true, Tick the correct alternative*
(a) There is no 0 or I) remaining*
(B) There io much more 1 formed than either C or P 

remaining*
(C) There is no E formed*
(P) There uie equal numbers of a11 three material* remaining*



9* The equilibrium constant for a chemical rection is 467

Y - (e)a (D)g
(CD2)

The reactiJn
equation is

which best illustrates the equilibrium

<A) od2^= n + D — 2 2 (B) CDt^r 2©
2

(c) od2^ 20 + 2D (0) CB^~ G ♦

Question 9 & 10 ielate to the foriowing structural formualea

H_S Nil GH, i?2 2 h 2

s N P - F
✓"X /K 1

K ’-H H H H. D - C -
II

a

9m The polar molecule/molecules is/are. Tick the correct 
alternatives.
(A) Pg (3) H£S and CH^ (C) HgS and

(B) n2a and P2

10. The molecule/molecules capable of forming hydrogeon 
bond is/are. Tick the correct alternative.
(A) ItS and OH,

2 a
(8) as2 and Ml

(B) CH,
k

<D> UgS* MIj and OU^m

d
ii. The ooapund which changes the colour of a K.mo.K ft

solution is . Tick the correct alternative.



46812. An Isomer of CM* - CJI - Cll - CH_ is i Tick tSie
3 2 2 3 '

correct aiteractive.

(A) 01i„ - CHn * ca

(C) CiJ„ Cli g SO 

13* An optical isomer of

» 0Ho (a) Cli„ - CM - CH,

GO (0)

GOOIi

ca.

HO - c - 
i

COQR

is,

Tick the correct alternative.

COOH
(a.) ho-o-h

H-C-OM
cobs

coon
(a) H-C-OH

cocas
(C) KQ-tjl-TI 

HO-C-fi
cobi

(D) None of the above

ik. A method most suitable for s^perating the alcoholic 
content of a feraent ie^Tiok the correct alternative*

(A) evaporation (B) Distillation
(C) Filtration (h) I& osier iaation*

Below and overleaf use diagrams of sis type of organic 
structures. Carefully esauine each structure and complete 
the questions 15~17#

(i) n
(j-C-OH

h n

(2) B
IK-C-
\
II

H<
(3) H n 1 ^° 

\
H

RHp-C
H

ih) H U 
i I

H-C
0

'XGH
n m.

(5) a ai »H-C -C- 
I l 
H H

G

‘OH

(6) ii
IS- C 

J

E(
c —- n
/



£6315* ®he molecule represented by diagram (5) is ^'fee* 

the correct alternative*
(A.) an aiisc^hyde (0) A Ketone (C) a Carboxylic acid 
(0) an alcohol*

i6* $ho molecule represented by diagram (3) is^"4io& the 

correct alternative.
(A) A Ketone (a) an aldehyde (G) an alcohol 
(D) an amine.

i?* She molecule represented by diagram (2) isy fecfc 
the correct alternative.
(A) An acid (e) an ester (c) an aside (d) an amine

18* An a.l&ane is represented by* the diagram^ "fecit the 

correct alternative. . ~cAj M Q>j 5 CO fo 0^ 2-
15). Consider the four possible structures with the formuka

0. H, 0. .k k k

H

H

COGS

CODE

E — C — COOl 
CGGH — C — B

<I)

a
GOOH

O'
I)
0

^ou
H

(III)

(II)

h c —- coca °^o -—8— h

0Ii (nr)

Cis-trans isomerism is illustrated by^ feok the correct 

alternative*
(A) I and III (B) 1 and II <C> II and m
(0) II and BT.



20. The compand aosfc likely to Dura in «ir is. Tick 
the correct uitern-tive. 470
<a) m2&ok (a) BaSO^ (c) cii^ (d)caei2.

21. Analysis of^oospond nade by a student in the laboratory 
snowed that it contained only C & n elements. t hat 
prediction can be made concerning its soluasiity^ ^iok 
the correct alternative.

(A) It is soluble xn both water and benzene.
(S) It le soluble in benzene but not in inter.
(c) it is soluble in neither water nor benzene.
<o) it ib soluble in water but not rn benzene.

goz$L-22. Which oharaot^rstics is typical of the leasnts in group IIA 
of the periotic table, ^ica the correct alternative 

4-(A) They fora 2' ions.
(b) The ionic radius is greater than -toaio radius,
(C) The exidea dissolve in water to yield aoidJ?>.
(d) The atonic radius decreases with Increasing atomic 

number.
Y23* A v. ite precipitate is leaned when lead nitx*te

solution reacts with sodium chloride solution. A similar 
precipitate is foruea when hydrochloric acid solution reaote 
with le-d nitrate. What is the formula of the precipitate^ ■faefe the correct alternative.

(a) Pb (NO_) (8) PbCl
J •> 2 (0) BsCl (l>)

24. Three different substances 0o, NO und SCL react and
6 A*

a two atep reaction occurs.
02 ♦ 2NO ——--- -•>- 2N02

N0„ ♦ SO--------->-SO, ♦ NO* 2 5
which suai-tapee is the cst&lyet. Tick the oorreot 
alternative.
(A) 0g (« &a2 (Pj S°3(3) NO



25• Which of the foliwing chemical band has the least ionic
character. Tick the correct alternative# 471

(A) p-----Cl# (B) m ------Cl (C) 01——Cl
(D) H---------Cl#

26# Which of the below given statement is the characteristics 
of group VII-A elements in the perodic tabic#
Tick the correct alternative#

(A) Ail are easily oxidised*
(B) All are found fsea in nature#
(G) All zppd, to' gain one electron#
(D) The attraction for electrons increases with

OU
increasing atomic number#

2?# ArheniousJtheory visualises that in case of^reaction 

between an acid and a base, it always produoos^ Tick 
the correct alternative.

(A) water (a) Salt (c) Water & Sait (d) None 
of the above*

23# What can be the probable fromula for the aside of an 
element Z in group II A of the periodic table^
’tick the correct alternative.

(A) X 02 (0) X 0 (C) XgG <») Xg0

29# In molecular crystals such at those of Sfe and Ng* 
which type of bonding exists between the molecules 
•{3.0k the correct alternative.
(a) Ionic (B) Wander-walls (0) Covalent

(D) Hydrogen#

30# Below given are some of the iectroaic configurations
which one of them represents atoms of the element having 
the highest second ionisation potential^ ^i.ck the 
correct alternative.
(A) IS2, 2S2, S?^ (B) IS-2* 2S2, 2p5

(C) IS2, 2SS, 2p6, 3&t, (D) IS2, 2S2, 2p\



31* Milch on© among them, are a Hot ropes, fiefe the correct
alternative. . n0n +- k, ** * ^

<A) r/y£3S » >0239 (B> Bn" ^ Sn**

°2. o, (D) K"K a**
3

32. l'he melting points ©f some of the elements of 
group VII A are F * - 223°S» Cl - l0l.6°C 
hr —,-7#2?C, I- il3*5°C. Whot value can ho a 

reasonable prediction for the melting point of Astatine 
(Atomic number 35)*

(A) - 150 °C (&} - 50°0 (0) 1C3°C (») 20O°C

33* In the below given equation which element is oxidised.
2Au(s) ♦ 12 h+ (aq) ♦ 301*" (aq) ♦ 3 lfo~3 (aq)-------

60...0 (1) 3M0S1 (^)*2Au5+{&ii)
fit

fiefe the correct alternative.

(a) &old (a) Oxygen (c) Nitrogen (s) Chlorine*

3*4* She most effective method of changing a gas into a 
liquid is*j ^blck the oorteet aternative.

(a) Increase the temperature and pressure.
(ft) Poduce the temperature and increases pressure•
(g) Keduca the temperature a;«i pressure.

(D) Increase the temperature and reduce pressure#

35* la the group I a elements» which orbital provides the
electron most used in bonding^ ^LeR the correct alternative. 
(A) S <B) P (G) d (») £

36. Which among these compounds exhibit the greatest covalent 
character#) ’’feick the correct alternative*

(A) rn (B) KS1 ( a) Cao (D) Bb &
2



473l1 137# In the nuclearuction 7*$k ♦ * 7

Which particle completes the equation. ficlt the 
correct alternative.

(A) Beta. (b) Proton (c) Neutron (0) Beutron.

38. An isotope on bombardment with'Alpha-partieiles will 
47 lgive gO * aha . Tick the correct alternative*

M 6C1" (8) /5 (O 8°16 <p> 7^'

39* Most of the organic insecticides are^ ^Ticfc the correct 

alternative.
. . , . 0(A) Fatty Acids (b) Poly Airhole *
(C) Heavily chlorinated Hydrocarbons (d) astines.

tf

JtO. Among the following compounds which one is a proteolytic 
en^ae«j ”|fick the correct alternative*

(A.) Diastase (u) Zyaase (0) Pepsin (d) Insulin*


